(%EFRIR)

\|E B EEERIEIRE (R2.4~3)
A|B [xHEs | IRALE [ZHEHE [BERS [BRES AE w=
5|27 1 3,036|AEHE| SBIEE A 3—3 Vb EGH (4A5) |8lE#ELL(RS 03224 —2avX)
6] 29 2 3,036 5Lz | SHEBIEE A 5—2VMEGER (5AS) [BIFELL(RSa32=4,—2avX)
7] 27 3 3,036tz | SHEBIEE A 5—2yMNEGER (6A%) [B8IFELL (RS a32=4~—avX)
8| 27 4 3,036|saEmE| SHEBIEE A= VMEGER (TAS) [BIEFELL(RS332=4~—2avX)
9] 28 5 3,036|sAEHE| SBIEE A 5—yMEGER (BAR) [3IFELL (RS 332=4,—2avX)
10| 27 6 3,036|sAEME| SBIEE A E—2VMEGER (QAR) [3IFELL (RS a32=4~—avX)
11] 27 7 3,036|sAEME| SBIEE A B3—2ybERE (10 5) [5IEBEL (R332 =4—23VX)
12|28 8 3,036|sAEHE| SHEIEE A B—2VMEGFEI (1B D) [BIEF%EL (R332 =4—23VX)
127 9 3,036|sAEHE| SHEIEE A B—3VMEGFI (128 5) [3IE%EL(N(-332=4—23V k)
3] 1 10 3,036|sAEHE| SBIEE A3—3 Vb EGH (1 A9) |8lE#LL(RS 0324 —2avX)
3] 29 11 3,036|sAEHE| SBIEE A3—3 b EGRH (2A5) |8lE#LL(RS 03224 —2avX)
4|27 12 3,036|FiEHE| SEBIEE A A—2yhEGRL(BAS) [BIEBREL(RS-032=4—23VX)
0] 36.432 SBIEE BRaT
4] 20 600,000 BaEns | BUSEHE B EEE (4~98%)
10[ 20 480,000 paEns | BUSEHE 75582 (10~3 A 5)
1,080,000 0 BB EEe At
1,080,000 36,432 W5
1,080,000

3.37%




